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1

Calculate (/5 + /47 )

ANSWET ...ovvveiiiiiiiiiee e, [1]
2 Write 48.9855 correct to two decimal places.
ANSWET ..o [1]
3 120,121,123, 124, 125
From the list of numbers, write down a
(a) square number,
ANSWET (@) ..vvvveeeeeeeieeeeeeeeeeeeeeiea, [1]
(b) common factor of 375 and 500,
Answer (b) ..., [1]
(c) a multiple of 41.
ANSWET (C) .eevvvveiiiiiiiiiiiiiiiie [1]
4 Write 0.6 km in metres.
ANSWET ..o m [1]
5 Write down the missing number in the following sequences.
(a) 48.2; 45.5; 42.8; 40.1; ........... ; 34.7 [1]
(b) 1; 9; 25; 49; ........... ; 121 [1
6 Robbie bought a pack of tea bags costing N$ 14.95 and a 750 ml bottle of
cooking oil costing N$ 18.50. He paid with a N$ 50 note.
Calculate his change.
Answer N$ ..o [1]
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3

Elizabeth ran a race in 15.8 seconds, correct to one decimal place.

Write down the lower bound of the time (¢) in seconds, that Elizabeth took to run
the race.

ANSWEN ..oneiiiiiiieiiiieeen. seconds

[1]

Use >, <or = to make the statement true.
(@) 3.12 ............... 3.1222,

[3]

A family arrives home at 17:20 after a journey that took 7 hours 45 minutes.
At what time did their journey start?

ANSWET ..o

[2]

10

Mrs Kazonga invested N$ 4 200 at a rate of 5% per year compound interest.

Calculate the total amount Mrs Kazonga has after 2 years.

ANswer NS ..o,

[2]

11

On a winter day in city B, the temperature at noon was 5°C. At midnight the
temperature was —4 °C.
Find the difference between these two temperatures.

ANSWET .o, °C

[1]

12

One day, 62 750 people attended a Confederation Cup match.
Another day, 85 420 people attended the match.

Calculate the percentage increase of the attendance between the two matches.

ANSWEN ..o %

[3]
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4

13 To make a cake, the following ingredients are needed.
1 ,
100 kg baking powder
;— kg flour
1 kg sugar
4 <9 sug
3
4 kg butter
(a) Find the total mass of flour, butter, baking powder and sugar.
ANSWET (@) .ovvvvveeiiiiieieeeeeeeeeeeee kg [1]
(b) What fraction of the total mass is flour? Give your answer in its lowest terms.
Answer (b) ..., [2]
14 Simplify
y3
@ s .
ANSWET (@) ..evvvveiiieeeieeeeeeeeeeeeeeeei, [1]
(b) 8f—2e+ 10f - 12e,
Answer (b) ....ccoooeeiiiiiiii [2]
(c) Multiply out
4w? (5w — 4w?y).
ANSWET (C) .ovvveveeiiiiiiiiiiiiies [2]
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15 Solve the equation

(x - 7)(2x - 1) = 0.

Answer: x = ............ OrX = .. [2]
16 Find the value of 8~'. Write your answer as a common fraction.

ANSWET .....oviiiiiiiiieaee e e e eeeeeeeeeeeeeeees [1]
17 Measure angle ABC.

A
B
C
ANSWET .....oovviiiiiiiiieeeeeee e, °C [1]
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18

LR N

line p

1O

Q

A

Y

\

(a) Write down the coordinates of point Q.

Answer (@) (....oeeeveeeee. ) eeerrererennnn—. )
(b) Write down the y-intercept of line p.

Answer (b)

(c) Calculate the gradient of line p.

Answer (c)

[1]
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7

For
19 Write down the mathematical name to describe each of the following diagrams. Exa[j”;’;er’s

(a)

ANSWET (@) cevvvvvreiiieieee e [1]
(b)

ANSWEr (D) ..o [1]
(c)

ANSWET (C) weeeieieiiiiiiieeeee e [1]

20 Write down the order of rotation of the diagram.
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21 Calculate the volume of the cuboid.

5cm

Answer

cm? [2]

22 The bearing of P from Q is 280°. Calculate the bearing of O from P.

North North
P
Q
280°
ANSWET ..o [2]
3
23 |tis given that p=(_2) and r=(

Find
(@ p+r,

ANSWET (@) .oovvvvieiiieiiieeieieees [1]
(b) 3p.

Answer (b) ..., [1]
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9

For
24 Using a compass and a straight edge only, construct the perpendicular bisector Exa[j”;’;er’s
of line MN.

[2]
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25 The list shows the height of all the players in a soccer club.
165 170 165 170 171 170

169 166 167 168 169 170
166 170 168 166 170 170

(a) Use this list to complete the frequency table below.

Height in cm Frequency
165
166 4
167
168
169 2
170
171 1

(b) A player is chosen at random. Find the probability that the player has a

height of
(i) exactly 166 cm,

Answer (b) (i)...ccccoeeeeeiiiis

(ii) atleast 165 cm.

TS () N (L) DO

165
166

[2]
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26 The sources of energy used by people for cooking are represented in the pie Uso

chart below.
NOT TO

SCALE

others

gas

=

100°
150>

wood

Slect Tcity,

(a) Calculate the value of x.

Answer (@) X = ..ooooeeeeeeeeeeeeees ° [1]

(b) Write down the fraction of people that use wood.
Give your answer in its simplest form.

Answer (b) ..., [2]

(c) 270 people use gas to cook.
Find the number of people who use electricity to cook.

ANSWET (C) ..vvvveiieeeeeeeeee, people 2]
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For
27 Calculate the size of angle SGP. Exazﬂsfger’s
5 NOTTO
P s SCALE
8 cm
G
ANSWET .o ° [2]
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